
O

,
I

6

bt
A'j

l-\
A r/)

<,o
\l\\i'\\\\i\\\',\\\tt\\t\\\\\t\\!.\t\\\\\\\\)\l'\!\\\'\\N

K1 1 SERIES DIRECT MOUNTING
TH REE-JAW SELF.CENTERI NG CH UCKS

t\\\\\\\\\\\\\\\

D

125

125

160

160

160

200

200

200

250

250

250

325

325

325

380

380

500

500

D1

53.975

63.513

53.975

63.513

82.563

63.513

82.563

106.375

82.563

106.375

139.719

106.375

139.719

196.869

139.719

196.869

'196.869

285.775

Dz

70..6

82.6

70.6

82.6

104.8

82.6

104.8

133.4

104.8

133.4

171 .4

133.4

171 .4

235

171 .4

235

235

330.2

HIDqDs

25 92

25 117

40 92

40 117

40 146

50 117

63 13

63 13

76 13

70 13

73 15

86 13

z-d

3-M10x 1

3-M 10 x 't

3-M'10x 1

3-M10x1

6-M12x1

3-M10x 1

6-M12xl

6-M16x1.5

6-M12x1

6-M16x 1 .5

6-M12x1

6-M16x1.5

6-M20 x 1 .5

6-M22x1.5

6-M20x 1.5

6-M22x1.5

6-M24x1.5

6-M22x1.5

)frEKg
Net wt.

10

10

'10

17

17

17

JI

32

32

51

5'1

53

B1

81

159

159

HI

10

10

10

10

12

10

12

13

12

13

14

'13

14

'16

14

70 146

70 181

'15

16

15

16

1B

86

B6

95

98

98225

146

181

100 1Bl 103.5 16

100 225 103"5 18

103.5 20

,IB118

100

225130

135 298

190 298

210 403

118 20

135 20

135 21

16

16

17

K11 4TI'f-18 = ItT H E,L'+ #
4E*4,t*

Model

K111251D3

K11125tD4

K11 160/D3 K11 160A/D3

Kl11601D4 K11 160A/D4

K11 160/D5 K11 160A/D5

K11 200tD4
K11200CtD4 K112004tD4

K11 2001D5
K11 200CtD5 Kl'1 200A/D5

K11 200/D6
K11 200C/D6 K11 200A/D6

Kl1 250tD5
K11250CtD5 K11250AtD5

K11 250tD6
K11 250C/D6 K11 250A/D6

K11 250tD8
K11 250C/D8 K11 250A/DB

K11 325tD6
K11325CtD6 K11 325A/D6

K1l 325tD8
K11 325ClD8 K11325A|DB

K11 325tD11
Kl1 325CtD11 K11 325AtD11

K11 380/D8
K11 380C/DB K11 3B0A/D8

K11 380/D11
K11 380C/D11 K11 380A/D11

K1'1500A/D11

K11500Ai D15

oO.
{ ..'i, 

(p

*nt*t sPECrFrcAroNS +.8/uNrr: mm

80


